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QUESTION 1

An administrator is creating a new Content Library. It will subscribe to another remote Content Library without
authentication enabled. Optimal performance is desired for the configuration.

What two steps should be taken to set up the library? (Choose two.)
A. The Subscription URL should be provided.

B. The library should be published externally.

C. A file system should be used for this library.

D. A datastore should be used for this library.

Correct Answer: AD

QUESTION 2

After deploying a vSphere Platform Services Controller (PSC), an administrator is unable to install vCenter Server. The
error displayed is:

Could not contact Lookup Service. Please check VM_ssoreg.log.
Which two actions can be taken to correct this problem? (Choose two.)

A. Verify that the clocks on the host machines running the PSC, vCenter Server, and the vSphere Web Client are
synchronized.

B. Configure a valid Identity Source for the Platform Services Controller in the vSphere Web Client.
C. Ensure that there is no firewall blocking port 7444 between the PSC and vCenter Server.

D. Uninstall and reinstall the Platform Services Controller software.

Correct Answer: AC

Reference:

http://kb.vmware.com/selfservice/microsites/search.do?language=en_USandcmd=displayKC andexternalld=2033880

QUESTION 3
Which password meets ESXi 6.x host password requirements?
A. 8kMVnn2x!
B. zZNgtnJBA2

C. Nvgt34kn44
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D. 'b74wr
Correct Answer: A

A valid password requires a mix of upper and lower case letters, digits, and other characters. You can use a 7-character
long password with characters from at least three of these four classes, or a 6-character long password containing

characters from all the classes. A password that begins with an upper case letter and ends with a numerical digit does
not count towards the number of character classes used. It is recommended that the password does not contain the

username.
A passphrase requires at least 3 words, can be 8 to 40 characters long, and must contain enough different characters.
Reference:

http://kb.vmware.com/selfservice/microsites/search.do?language=en_USandcmd=displayKC andexternalld=1012033

QUESTION 4

Refer to the Exhibit.

-

(root@ds-lab-vsanl2:~| esxcli storage mmp psp roundrobin deviceconfig set --useano=0 -d naa.&800000e00d11000000111cd2000£00008

An administrator is configuring a storage device as shown in the Exhibit.
What is the expected effect on the stated device after running the command?
A. /O will rotate on all storage targets regardless of port group state.

B. I/O will rotate on all storage targets that are Active Optimized state only.
C. I/O will rotate on all storage targets that are Active Unoptimized state only.
D. I/0 will rotate on all storage targets that are on Available Nodes only.
Correct Answer: B

When the command is run, 1/O will rotate on all storage targets regardless of port group state.

QUESTION 5

Which two statements are true regarding VMFS3 volumes in ESXi 6.x? (Choose two.)
A. Creation of VMFS3 volumes is unsupported.

B. Upgrading VMFS3 volumes to VMFS5 is supported.

C. Existing VMFS3 volumes are unsupported.

D. Upgrading VMFS3 volumes to VMFSS5 is unsupported.
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Correct Answer: AB

While a VMFS-3, which is upgraded to VMFS-5, provides you with most of the capabilities as a newly created VMFS-5,
there are some differences. Both upgraded and newly created VMFS-5 support single-extent volumes up to 64TB and
both support VMDK sizes of ~2TB, no matter what the VMFS file-block size is. However additional differences, although
minor, should be considered when making a decision whether to upgrade to VMFS-5 or create new VMFS-5 volumes.

Reference: http://www.vmware.com/files/pdf/techpaper/ VMFS-5_Upgrade_Considerations.pdf
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